MATH

Counting Coins
Word Problems

Dan has 2 quarters, 3 dime, 3 nickels, and 4 pennies. Does
he have enough money to buy a pen for 75 cents? Show

your work.

Amy had 4 quarters, 4 nickels and 4 pennies. She gave 40

cents to her brother. How much money is Amy left with?

Jacob gave 4 dimes to his brother. He gave 2 dimes more
to his mother. How much money is Jacob left with if he
initially had $1.757

Oliver has 1 quarter, 6 dimes, 2 nickels, and 7 pennies.

How much money does he have in total?
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Answers
Dan has 2 quarters, 3 dime, 3 nickels, and 4 pennies. Does
he have enough money to buy a pen for 75 cents? Show

your work.

Yes as Dan has 99 ¢

Amy had 4 quarters, 4 nickels and 4 pennies. She gave 40

cents to her brother. How much money is Amy left with?

84¢

Jacob gave 4 dimes to his brother. He gave 2 dimes more
to his mother. How much money is Jacob left with if he
initially had $1.757

$1.15

Oliver has 1 quarter, 6 dimes, 2 nickels, and 7 pennies.

How much money does he have in total?

$1.02




